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¼vkfFkZd fodkl½ 
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Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. “Development is growth plus charge—Social, Cultural 

and Economic.” Elucidate. 

ßfodkl dk vFkZ gS lao`f) tek ifjorZu&lkekftd] 

lkaLd`frd rFkk vkfFkZdAÞ fVIi.kh dhft,A 

2. Discuss the Harrod-Domar model of Economic 

Growth. Express your views about their utility to 

India‟s economic growth. 

vkfFkZd fodkl ds gSjkM&Mksej ekWMy dh O;k[;k dhft,A 

bu ekWMyksa dh Hkkjr ds vkfFkZd fodkl esa mi;ksfxrk ds ckjs 

esa vius fopkj O;Dr dhft,A 

3. Explain the Unbalanced Growth approach and compare 

it with the strategy of Balanced Growth. 

vlUrqfyr fodkl n`f”Vdks.k dh O;k[;k dhft, rFkk 

lUrqfyr fodkl dh j.kuhfr ls bldh rqyuk dhft,A 

4. Discuss the role of agriculture in Indian Economy. 

Hkkjrh; vFkZO;oLFkk esa d`f”k ds egRo dh foospuk  

dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Theory of unlimited supply of labour. 

Je dk vlhfer iwfrZ fl)kUrA 

2. The concept of Golden Age. 

Lof.kZe ;qx dh vo/kkj.kkA 

3. Briefly explain Rostow‟s stages of Economic Growth. 

jksLVkso dh vkfFkZd o`f) dh voLFkkvksa dk laf{kIr o.kZu 

dhft,A 

4. Importance of small scale industries in Indian 

Economy. 

Hkkjrh; vFkZO;oLFkk esa y?kq m|ksxksa dk egRoA 

5. Highlight the important characteristics of under-

developed countries. 

vYifodflr ns’kksa dh izeq[k fo’ks”krkvksa ij izdk’k Mkfy,A  

6. Capital formation and Economic Development. 

iw¡th fuekZ.k ,oa vkfFkZd fodklA 
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7. Human Development Index. 

ekuo fodkl lwpdkadA 

8. Concept of Capital-Output Ratio. 

iw¡th&mRikn vuqikr dh vo/kkj.kkA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

All the questions this Section are compulsory. 

bl [k.M ds lHkh iz’u vfuok;Z gSaA 

1. Sustainable economic growth depends upon : 

(a) Investment, not saving 

(b) Saving not investment 

(c) Both Saving and Investment 

(d) None of the above 

lrr~ vkfFkZd o`f) fuHkZj djrh gS % 

¼v½ fofu;ksx cpr ugha 

¼c½ cpr] fofu;ksx ugha 

¼l½ cpr ,oa fofu;ksx nksuksa  

¼n½ mi;qZDr esa ls dksbZ ugha 
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2. Who is the father of „Operation Flood‟ ? 

(a) Verghese Kurien 

(b) Swaminathan 

(c) H. B. Chenery 

(d) None of these 

^vkWijs’ku ¶yM* dk tud dkSu gS \ 

¼v½ oxhZt dqfj;u 

¼c½ LokehukFku 

¼l½ ,p- ch- psujh 

¼n½ buesa ls dksbZ ugha 

3. Theory of Capital Accumulation is given by : 

(a) Ricardo 

(b) Joan Robinson 

(c) Malthus 

(d) Karl Marx 

iw¡th lap; dk fl)kUr fdlus fn;k \ 

¼v½ fjdkMksZ 

¼c½ tkWu jkWfcUlu 

¼l½ ekYFkl 

¼n½ dkyZ ekDlZ 

4. „NABARD‟ was founded in year : 

(a) July, 1982 

(b) July, 1990 

(c) September, 1980 

(d) September, 1991 
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^ukckMZ* dh LFkkiuk dkSu&ls o”kZ dh xbZ \ 

¼v½ tqykbZ] 1982 

¼c½ tqykbZ] 1990 

¼l½ flrEcj] 1980 

¼n½ flrEcj] 1991 

5. First Five Year Plan was based on which growth 

model ? 

(a) Solow 

(b) Meade 

(c) Harrod-Domar 

(d) None of these 

izFke iapo”khZ; ;kstuk fdl o`f) ekWMy ij vk/kkfjr Fkh \ 

¼v½ lksyks 

¼c½ ehM 

¼l½ gSjksM&Mksej 

¼n½ buesa ls dksbZ ugha 

6. Who said, “A study of poverty of nations has even 

more urgency than a study of the wealth of Nations” ? 

(a) Meier and Baldwin 

(b) Smith 

(c) Williamson 

(d) None of these 

fdlus dgk] ßjk”Vªksa dh fu/kZurk dk v/;;u] jk”Vªksa ds /ku 

ds v/;;u ls Hkh vf/kd egRoiw.kZ gSÞ \ 

¼v½ ek;j ,oa ckYMfou 
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¼c½ fLeFk 

¼l½ fofy;Elu 

¼n½ buesa ls dksbZ ugha 

7. „Economic Welfare Criteria‟ of economic development 

was given by : 

(a) Marshall 

(b) Okun and Richardson 

(c) J. R. Hicks 

(d) Samuelson 

^vkfFkZd dY;k.k o`f) ekin.M* fdlus fn;k \ 

¼v½ ek’kZy 

¼c½ vksdu o fjpM~~Zlu 

¼l½ ts- vkj- fgDl 

¼n½ lSE;qvYlu 

8. The term of the 11th Five Year Plan : 

(a) 2007&2012 

(b) 2005&2010 

(c) 2008&2013 

(d) 2006&2011 

X;kjgoha iapo”khZ; ;kstuk dc ls dc rd dh Fkh \ 

¼v½ 2007&2012 

¼c½ 2005&2010 

¼l½ 2008&2013 

¼n½ 2006&2011 
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9. An economy is at the take off stage when it : 

(a) becomes stagnant 

(b) begins steady growth 

(c) gets maximum foreign aid 

(d) None of these 

,d vFkZO;oLFkk vkRe&LQwfrZ dh voLFkk esa gksrh gS tc % 

¼v½ xfrghu gks tk;s 

¼c½ vfojy fodkl ‘kq: gks tk;s 

¼l½ vf/kdre fons’kh lgk;rk izkIr gks 

¼n½ buesa ls dksbZ ugha 

10. Both NREP and RLEGP were merged in : 

(a) TRYSEM 

(b) JRY 

(c) RDP 

(d) None of these 

NREP ,oa RLEGP nksuksa dks foy; dj fn;k x;k % 

¼v½ TRYSEM 

¼c½ JRY 

¼l½ RDP 

¼n½ buesa ls dksbZ ugha 
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